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b Eh & E 1,619,537,932 50.0
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it B R 64,788,267 2.0
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H @k U E i B 1,686,570 0.1
T EHFRERUVUER 11,184,918 0.3
* th 325,170,632 10.0
B & & # = 2,147,600 0.1
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i Bh = | &= 1,338,708,079 414
B B & 761,630,227 235
"= B & A = 300,000,000 9.3
1TERARFFERIABAE 39,800,000 1.2
x #h & 129,696,477 40
x i = H 23,339,048 0.7
* o E A 610,000 0.0
x #H H E #® 6,457,400 0.2
i) Y & 5,503,377 0.2
E 5 35 & £ 71,671,550 2.2

E = | &® 88,663,639 2.7
E # # A = - -
' E B & & & 84,533,639 2.6
E B x # = 4,130,000 0.1
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¥ x &' x 1,808,105,314 55.9
& ¥\ & 100,000,000 3.1
E X #®@ x = 891,484,724 275
T 0O M EKRE RS 891,484,724 275
MO=®E OB R & 816,620,590 25.2
MOo® E fFE £ 25,000,000 0.8
T Ot F &ERERE 791,620,590 24.5
Al & ¥ i £ 480,000,000 14.8
BB A SRR E 311,620,590 9.6
oM - B E EESE 743,292 0.0
TOMEMIEFFME=EES 743,292 0.0
i & B & &t 1,808,848,606 55.9
a & - # & B & ¥ 3,236,220,324 100.0




